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| How do | know thisis a inear sequence? I / ~ I | l
| 1 increases by adding 4 to each term | | This wil be Inear - note the single This s nol inear os there s o | | |
| How mary terms do | need to make this concson’? |1 vower of n The valves rcresse at a povier forn | o lymes whalewer n squared s |
| Ot kast 4 terms — two terms only shows ore dfference rot (f this dfference s | | tont ot | | |
| corstant (a common dfference) | ] Corslant rale Seetivte fhe or of the | ook § | | g |
| How do | continue the sequence? | _ I ubstitute the number o erim you are. boking for | t )
| You continue to repeat the same dffererce through the rext posttions in the | : ;zn 5 n place of '’ | | Fierm = dx K= 2 ’-l;ttte g(mm (2x 2 }, l
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: CHECH — drain the rext terms :?r?d“’uon’ 5 by 2 eaeh | I 3n 4 = QOI ' |\ - -
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| found by triping 4‘_-!3’2, 36, 108... | | | | | position 3 I
| Try to explain this in ful seritences not just with mathematical notation the previous term 3 ")g 73"" | I has 7 sauares’ |
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| To exslan a whole sequerce you reed to incbde a term to begn ot ... | | (the number of squares in each image) |
P S S — — 10 I
|— ——————————————————————— - | £ s
61 table K] . |
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Subtract the new sequence from the original sequerce
L B B -

Find the nth term of the new sequerce
Put dll the components together

nz 3 A A7
2 0 -2 nthterm-In+4

Onswer: 3n2-|

| Findnathe alsebraic ruk |
| Ths s the 4 4n ' 3 |
s 4,81216,0.... N |
: 4n * ¢ ¢ This has the same constant This & the constant (ngrsntcze) EZ{:«Z{; ?Ee :
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| v the. onginal sequence n the sequence |
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i?’ﬂd{g“’ m‘ te””{ N | Find the rith term of the foloving avadratic.

ind the nth term of the folowing quadratic sequence eatence. |
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2 1 b, 47 74 ... Steps for siecess |

95 Al a7 1 Find the first differerce v R :

b 6 6 A Find the second difference o o |

3 Half the second difference and put it in front of n? |
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Onswer: 3n2-n+4
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